1R 7" '01n X2 M21n0 .7"02

— oownn anow Spa 1nRe
They will say; he had relations with a whole, he pays fifty

Overview’

1"9 discussed a case where two people were %12 a woman the first one 75772 KW
and the second one 715773, how can it be that they both pay the same 01p. Our MdOIN
maintains that one who is X2 on a 1712772 X?w 712102 pays 03p.

= 19975 XDV 129X D17 2N1T NIYTI XYY NIy NV PYNIN 3wivr9
The explanation of the phrase o>wnn 77w H¥1 is that we are referring to the first
one who had relations with her 719972 X2 that he is liable for 81p payment even
though the 7X°2 was 719972 Row —

mooIn proves that there is a 0IP payment even by a 15775 ROW IR°2:
= 9915 NDINA NN P2 79 NODY INA (3,0 97 “PWITIPT NP P93 199N T

As the Xn» 72 states in the first P95 of PwITSP NOON, ‘ten people came upon her,

and she is still a 7202, etc.’ -
- T35UN 1A9IT D37 PIYY 6939 1IN S9NRDI N1 XIY ¥IN9

The explanation of the Xn>12 which states that she is still a 772 (after having
relations with ten people) is that it was 719975 X?w, and X717 "1 said that even 929

admits regarding o1p that they all pay (if she would have been a 7119 [unmarried]). This
proves that by a 119773 X5w 7%°2 you pay 0ip.

' This m2o1n is (also) referencing the X3 on 2,7.
2 See ‘Overview’ to the previous TnX 71"7 ',
3 The word w1s here is intended to negate an alternate explanation, that when 1" stated o°w>nn 72°2w 92 he was not
referring to this case of 79772 R9W TnX, rather he mean that generally if one is 992 a 72°%Ww he pays fifty. 1" cites this
case of 01w "9 W1 to point out that the one who was 13775 X2 on a woman who was a 10 (because someone was
already 113775 X2w 7999 R2), should also pay the same fifty?! See footnote # 13.
4 The ®n>>a there is discussing that they were 9912 a 1o18nn 7793 (where usually the punishment is 79°p0, as opposed
to a nXW1 where the punishment is Par7). The p"n maintains that since she is still a 79102 (for the IR°2 was 779772 RoW),
they all receive 12°po, while *271 maintains the first one receives 712°po and the remainder receive pan (since she is a
2wa).
3 X, on the very top.
¢ Even though that regarding the death penalty 31 considers her a 7213, so the others are pan 27, not 72°p0, however
regarding 01p she is considered a 72102 and they all pay o3p.
7 It should be pointed out that here we are discussing whether by a 72772 X?w 7822 there is 01p (even if she was a
complete 72102 before this 73775 X7w 7X°2). There the npY?nn between 131271 27 is concerning her status after there was
a 1197172 KW 1R°3; is she still considered a 79102 or not. In any event X1 '3 states that (even) according to 27 there is
01p by 179772 ROW X°2 even if she was already 179775 Row H¥23, so certainly according to the 13127, there is 01p by a X"
79772 RO (especially if she was not 7¥21 yet at all).
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nooin offers an additional proof that there is 03P by a 73772 XPW nX°2:
= SAUND 19101 99 22) (0w x,03 97 M%) NI DY NAN 79939

And in %25 By 827 90 regarding the P09 of WK 71570 X9 (and she should be

a wife for him), the xn>»2 expounds this 7105 to mean -
= 95992 D7) 1195 NN V99 17 NMININ NYNA

A wife who is fit for him; to the exclusion of a widow (who was the 71011X) to marry

a 9173 372 (who was the 0ixn), etc.
- 15975 NOYW IND NN 1019192 1Y XHNT 999 £I9IN N7 NIIDIN 9197 9957 999

And X211 there asks what is this case of an 2"170% mnoX; if you will say that the 3"
was DIXn her 173772, you can derive that she is forbidden to him, since she is a w2,
rather we must say that the 3"770 was DIX% her 779975 RPw —

n199I1n mentions an anticipated difficulty:'?
- 13975 NYY 72 11959 INAY DPNY S8 1A NI

And here "1 could have stated his case where both were 579975 X2 ;799 IN3 -
= 1593 109 WIY MY IINT XOND IPINT (3,55 pr1nio) TNV J3 P93 1)

And similarly in 970 32 P92 where X707 17 established the 71wn of ‘these Ny

receive 9ip’, and one of them is 1MNX ¥ 27, that it is discussing a case where -
- 19975 MUY N2Y AN 997 NYY 199Y NAY IS

For instance someone was 12972 X922 ;779%p X2 and later he or another was 799 K2

8 This P09 is written in ©3,23 (X¥n) 0127 regarding a 0IXn, who is required to marry the 7K.

° This means if a 3"712 was DIX? an POIPR:T 12 73R who was still a 79102, he is not required to (marry her or) pay the

01p, since he cannot marry her, for she is an 7198, who is forbidden to a 2"72.

10 A 375 must marry a 72302 (as it is written in »,X3 [112X] X1 that ApP> 7993022 AWK X¥7), but not a A7W3, even if the

3"715 made her a 79w2 through being non/018n her, he still may not marry her.

! Therefore only if she is an 717X is he exempt from 01p, since he cannot marry her, however if she is not an 7198

and he was 170772 RW 7°9V X2 so she is still a 79102, he may (and is required to) marry her, so he pays the 01p; proving

again that one is 03P 21 (even) by a 79772 ROW X2,

12 According to N0 that there is 03P by a 73773 X5w 7x%°32, why did 1" state his ruling in a case where the first %2

was 719772 R7w and the second 78*2 was 713773; the same ruling could have been stated where both nx»a were X7w

719779, and the issue would be the same; 121 7275w Hy2 108>,

13 The fact that it did not state the case in this manner would lend support to the opposing view that there is no 01p by

713772 X9w nX°3 and therefore it was necessary to state that the second 782 was 173773. 1""1 was wondering how is it that

generally when one is 0i1Xn a "W he pays fifty 2°%pw, and here, where the second one was 01¥n a 7219, he pays the

same fifty o2pw?! See footnote # 3.

14 The ®n>™2 on X,3 teaches that it is permitted to kill a person who is attempting to do a certain crime, in order to

prevent him from doing it. One case is if a person is perusing to have relations with a woman for whom there is a 21’1

mn»> (like his sister). However if 925 7772y 72 772v1 one may not kill the pursuer (the 7711). The question is how can

we say that 10InR 5v X277 (which is a 10> 210) that he pays 03p, since he is a 9717 and it is W13 12°¥77 1071 (We may

kill him), so since the DR is QX *7°2 7N 21, he should be MMWd from DI on account of 79 72772 %% op (even if he

is not actually killed, as we derive from the 7°p1m °27 Rin).

15 This removes the obligation to kill him (he is no longer considered a A717), since 77°ay 72 7721 (see footnote # 13).
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712972, so the second person must pay the 01p; in this case too -
= 17795915 XYW 1’0y N2 9N 160PaY 81 NN

X707 21 could have mentioned, ‘and the other one was 173975 R®w 7199 R2’, instead

of saying 1772 7°%¥ K21 71, since (according to NMooIN) there is 0IP by 713772 XYW as well -
— 13p0NT DIVIPN VI YY NUPY NN

And whatever is difficult with >'"'2=5 there (in 17770) -
(2,0 97) Z0PWITIPT NP P93 (9x,03 97 Mna%) NN DY NANA 1YW

We expounded on them in 1023 %y X277 P70 and in the first P of 1wy 79 noon.

Summary
According to m»on there is 01p by a 719772 XYW IX°2.

Thinking it over
What explanation can be given why indeed it states 73772 X?W 71X 719772 1K instead

of saying 79772 Xow ooaw 7°Hy w2122

16 See footnote # (12 &) 13.
17 mooin does not explain why indeed it stated 73772 instead of 19772 X5W in these two places (here and in 1"77710).
See ‘Thinking it over’.
185"y in nywn "7 2,3V 77710 maintains that 01p is only paid only by 7%°2 723 where he removes her 27102 (which
does not occur by a 713772 KW 1X°2).
19 R9% 7"
20 There is no MsMn there discussing this issue, however it can be found in 71 '01n there on X,>. Somehow '01n does
not reference the Md0IN there in R1an 71"7 2,)¥ 1717710, where he also asks on *"w1d there.
21 See w"x17 MoDIN and XYM,
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